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2AM:
T ZH -
o /e

cH):

SQi)| =M
SEOIASH(SAF)
59101 =XAIH

SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SEYEX E= (=AY 152,104 149,429 2,675
& 45,631
Al 106,473
201 et23| 152,104 149,429 2,675
= 45,631
Al 106,473
01 At22telH 152,104 149,429 2,675
SHEEX B2 152,104
= 45,631
Al 106,473
HMEoseld s X 1,536 1,344 192
= 480
= 317
Al 739
307 2I2t01 1,536 1,344 192
= 480
= 317
Al 739
02 QIZHHAAIEE X 1,536 1,344 192
SEMESAE agZe sl N 1,536
= 480
< 317
Al 739
sEHEFH |49 N (SEME0IE MRERE) 52,164 58,302 16,138
= 14,904
Al 37,260
307 212t01 ™ 52,164 58,302 26,138
= 14,904
Al 37,260
02 QIZHHAAIEE X 52,164 58,302 26,138
SENESL0E MRS XE 52,164
& 14,904
Al 37,260
—'5—.)1—%%—’5—1“ SINY (sEME=202 28 ot A 4,352 4,211 141
%
2 2,720
= 490
Al 1,142
307 2I2+0| ™ 4,352 4,211 141
= 2,720
& 490
Al 1,142
02 LB AAIHE X 4,352 4,211 141




2N sZ0I=dH
I SEOINSM(SAFMY)
CHPlr S0 SXIAIR (St M 2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
sENEF20E 28 Ot K& 4,352
= 2,720
& 490
Al 1,142
SEMEF20IS S2HA X2 3,150 2,000 1,150
= 945
Al 2,205
307 212t01& 3,150 2,000 1,150
= 945
Al 2,205
02 QIRHBAIAHE R 3,150 2,000 1,150
SEMES20E S2A XI& 3,150
& A5
Al 2,205
sEZZ=H 4 X2 (USMHA HEDK) 1,816 1,816
201 et 3| 1,816 1,816 0
01 AtR2elt] 1,816 1,816 0
SHE0IEIMHIA OHMNE 1,816
=& SS00I=sdH 22 16,960 13,700 3,260
= 8,480
= 2,544
Al 5,936
307 212t01& 16,960 13,700 3,260
= 8,480
& 2,544
Al 5,936
02 CIZHEAAIRIE X 16,960 13,700 3,260
=& 330l0|=34H 16,960
= 8,480
& 2,544
Al 5,936
He=ge s& HOoIEHl XA 160,000 200,000 A40,000
= 48,000
Al 112,000
402 CIZHRHE0|N 160,000 200,000 A40,000
= 48,000
Al 112,000
02 CIZEXI=2AIH B (0| M THS) 160,000 200,000 40,000
HE=0ol =& HOIEHl XA 160,000
= 48,000
Al 112,000
=gl 9dst WS X2 18,000 36,000 A18,000
& 5,400




A s2I|I=dH
I SEOINSM(SAFMY)
ol sl SXIAIH CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 12,600
307 212t01 ™ 18,000 36,000 18,000
= 5,400
Al 12,600
02 QIZHHAAIEE X 18,000 36,000 18,000
Hesgel Sgda Wi Ad 18,000
= 5,400
Al 12,600
Hesgol SA388 X2 71,280 0 71,280
= 39,600
= 9,504
Al 22,176
307 2I2t01 71,280 0 71,280
= 39,600
= 9,504
Al 22,176
02 QIZHHAAIEE X 71,280 0 71,280
Hesgel S+A2H8 XE 71,280
= 39,600
= 9,504
Al 22,176
s&Y B daE ot Xl N 10,800 10,800 0
= 2,880
Al 7,920
402 212tXH=01 S 10,800 10,800 0
& 2,880
Al 7,920
02 QIZEXH=AL 22 (01 THE) 10,800 10,800 0
SHY S8 e tEd X N2 10,800
& 2,880
Al 7,920
s&lls 24 =201 N 15,000 30,000 A15,000
= 4,500
Al 10,500
301 Et2dS 15,000 30,000 A15,000
= 4,500
Al 10,500
14 JIEt2d= 15,000 30,000 A15,000
sElls s34 =20 X2 15,000
& 4,500
Al 10,500
& sge ¥ HHsd 1,105,697 968,640 137,057
= 440,600
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2N sZ0I=dH
I SEOINSA(SAPMY)
gelr Mz sgel & SIS CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
Al 187,157
02 CIZHEAAIRIE X 623,857 432,000 191,857
dE2 s IsZ3KES 623,857
= 436,700
Al 187,157
HUE=s90 =X dxis XA 84,000 132,000 A48,000
= 25,200
Al 58,800
301 Ler2d&3 84,000 132,000 A48,000
= 25,200
Al 58,800
14 JIEtE&Z 84,000 132,000 A48,000
HUE=sg0l =X edxtg K& 84,000
& 25,200
Al 58,800
S W SN =S KNJAAE 20,000 5,000 15,000
& 6,000
Al 14,000
307 SI2t01 & 20,000 5,000 15,000
= 6,000
Al 14,000
02 QIZHBAANSBEE 20,000 5,000 15,000
=S L S sZ2Y NJAY 20,000
= 6,000
Al 14,000
NY2E =0 sX0IY e-3t 198,000 211,000 A13,000
& 79,200
Al 118,800
301 LEBAZ 198,000 211,000 A13,000
= 79,200
Al 118,800
14 J|Et2 A2 198,000 211,000 A13,000
NHE2E| =0l =X0/Y A5t 198,000
= 79,200
Al 118,800
SHASOHE (=&ML 45,064,656 40,717,564 4,347,092
= 1,461,066
= 631,416
| 27,109,109
& 5,719,516
Al 10,143,549
NBE A MAXIRA 45,064,656 40,717,564 4,347,092
= 1,461,066




2M: sellsddH
M SHASHE(=HZHDY)
P DEI M YUTE (cio: x5
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
s 631,416
| 27,109, 109
= 5,719,516
Al 10, 143,549
Jl2s SAXNEM K2AE (sEE=) 24,704,000 23,927,000 777,000
J| 24,704,000
301 LN S 24,704,000 23,927,000 777,000
J| 24,704,000
14 JIEtE 8= 24,704,000 23,927,000 777,000
JIZ28 SUMEN KA 24,704,000
| 24,704,000
A2 22 I (XIXHA) X (=S E 241t 2,000 2,700 AT700
= 2,000
201 ZEH= | 1,700 2,000 A300
= 1,700
01 AlR-2teld 1,700 2,000 A300
22| FAEX ARt 1,700
= 1,700
202 044l 300 700 2400
= 300
01 SU0LI 300 700 2400
LI2AC|ZAEL =L 300
= 300
SIIZHIZ X (sSHHDY) (HEALY) 1,120,000 1,112,087 7,913
307 212t01& 1,120,000 1,112,087 7,913
02 RIRHEAIAMHE R 1,120,000 1,112,087 7,913
=I1EHIE KFA 1,120,000
SN X3 (sSE) 1,024,867 1,370,433 345,566
s 629,263
< 197,802
Al 197,802
307 212+0|& 1,024,867 1,370,433 A\345,566
s 629,263
= 197,802
Al 197,802
02 RIHEAIAHE X 1,024,867 1,370,433 A345,566
ELHEM X 1,024,867
s 629,263
= 197,802
Al 197,802
P =g oot RH(=YI M) 81,500 104,500 /23,000
< 24,370




2AM:

=
S sIHASOHE(=sYE )
ol DSE A daXE CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
Al 57,130
301 LEEHZ 65,500 85,500 A20,000
& 19,570
Al 45,930
14 J|Et243 65,500 85,500 A20,000
A s4tE elsHl K& 65,500
& 19,570
Al 45,930
307 QI2H0| M 16,000 19,000 A3,000
= 4,800
Al 11,200
02 QIZHBAANSBEE 16,000 19,000 A3,000
P =S A RIA 16,000
& 4,800
Al 11,200
SN2 MM BEE X2(2EEXE) (s HH 2,120,000 2,045,000 75,000
)
= 703,500
Al 1,416,500
307 QI2H0| M 2,120,000 2,045,000 75,000
= 703,500
Al 1,416,500
06 2= 2,120,000 2,045,000 75,000
S0t EH 320,000
& 9,000
Al 224,000
s&NEM 28z K& 1,425,000
& 495,000
Al 930,000
SIHEEEE K& 375,000
= 112,500
Al 262,500
A=A E (L) 167,696 112,000 55,696
| 155,309
Al 12,387
301 LEEBHZ 167,696 112,000 55,696
| 155,309
Al 12,387
14 J|Et243 167,696 112,000 55,696
s HNEX=SAY 150,000
| 150,000
A=Y elsHl K& 17,696
| 5,309




SIS
SIASOHE (SHE 2
ST A AL (cro): =2l
SN - FE - ERI(E) - KIRAY o Gl HIRE2
| Al 12,387
SAXSHAMS =L H-H| X 93,800 93,800 0
| 93,800
101 21244 70,400 70,400 0
| 70,400
04 JIHHZ2ZENEE 70,400 70,400 0
SAXNEH JIZHHSES 70,400
J| 70,400
201 LB 23,400 23,400 0
| 23,400
01 AtS2teld 23,400 18,300 5,100
SAXEH AIS2eld] 23,400
| 23,400
=2 EXNEXSHIA 2,156,000 949,000 1,207,000
J| 2,156,000
301 YetEN =S 2,156,000 949,000 1,207,000
J| 2,156,000
14 JIEt243 2,156,000 949,000 1,207,000
HdHR=SHES 2,156,000
| 2,156,000
RISLIM K (sLEE) 5,383 2,809 2,574
Fas 2,153
= 969
Al 2,261
307 @12+0|& 5,383 2,809 2,574
s 2,153
= 969
Al 2,261
02 RIRHEAIAHE R 5,383 2,809 2,574
FI=sSHM XA 5,383
s 2,153
= 969
Al 2,261
AlSAE Mol E2Z KA 202,020 391,000 188,980
< 65,520
Al 136,500
402 SItXE01M 202,020 290,000 287,980
< 65,520
Al 136,500
02 QIZEXHEAIE 2 (01X TH2 202,020 290,000 287,980
ARt MAH| 2 X2 (AIEE]) 202,020
= 65,520
Al 136,500




A s2II=dH
¥ SISy (=23
Celr DEE N MATIR (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
STEE sti=g XA 9,725,880 9,848,680 122,800
& 3,890,352
Al 5,835,528
101 QI124H] 93,544 93,544 0
= 37,418
Al 56,126
04 JIZtH22 XS 2= 93,544 93,544 0
SEEE so=g JIZH S 2= 93,544
= 37,418
Al 56,126
201 28H=3| 2,136 2,136 0
S 854
Al 1,282
01 Al 22| 2,136 2,136 0
SEEE s02U+E ArR2eld] 2,136
S 854
Al 1,282
301 Et2HS 9,630,200 9,753,000 122,800
= 3,852,080
Al 5,778,120
14 JIEt2d= 9,630,200 9,753,000 122,800
SFE s02 =& X3 9,630,200
& 3,852,080
Al 5,778,120
SHEE stisg N (M) (sED) 150,000 174,505 24,505
201 Let23| 150,000 174,505 224,505
01 A2t 150,000 174,505 24,505
SEANEYEE +32 2 SFY 150,000
s4Y 23| XA 19,600 19,600 0
= 4,900
Al 14,700
206 XH=Hl 19,600 19,600 0
= 4,900
Al 14,700
01 MZH 19,600 19,600 0
s&Y 233l X 19,600
& 4,900
Al 14,700
St A 24 NEAE 6,250 6,250 0
= 1,875
Al 4,375
307 212t01™ 6,250 6,250 0
= 1,875




A s2II=dH
¥ SISy (=23
Celr DEE N MATIR (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 4,375
02 QIZHHAAIEE X 6,250 6,250 0
SN RIN24H! X 6,250
= 1,875
Al 4,375
S8 ¥ =% RPC(DSC) AIEEH| XA 90,000 273,000 183,000
& 27,000
Al 63,000
402 BIZtA=01 M 90,000 273,000 /183,000
& 27,000
Al 63,000
02 QIZEXH=AL 22 (01 THE) 90,000 273,000 183,000
S8 % =% RPC(DSC) AIEZHI X 90,000
= 27,000
Al 63,000
HE JtEE XA 373,110 0 373,110
= 223,866
= 44,773
Al 104,471
307 212t01 ™ 373,110 0 373,110
= 223,866
& 44,773
Al 104,471
02 QI B AEE X 373,110 0 373,110
BlEotA ety X2 373,110
= 223,866
& 44,773
Al 104,471
Alghite NS9EE 1,131,500 271,700 859,800
= 565,750
Al 565,750
402 212tXH=01 S 1,131,500 271,700 859,800
= 565,750
Al 565,750
02 QIRIXEAIE E (01X THR) 1,131,500 271,700 859,800
Mg NgREE N3 1,131,500
< 565,750
Al 565,750
SXIME B WHEX XI& 13,500 13,500 0
301 LetE2d= 13,500 13,500
14 J|Et2 = 13,500 13,500
=2dEH iz A= 13,500
CHEY 433 A 24,750 0 24,750




SA: SI|SHEH
M SIIASOHE (ST
Crel: DEX A MAXE (crol: 2i21)
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
= 7.425
Al 17,325
307 QIZFOIA 24,750 0 24,750
= 7.425
Al 17,325
02 QI2IA A AL B 24,750 0 24,750
CEDE MES NRAY 24,750
& 7,425
Al 17,325
DEINSESAG KA 1,852,800 0 1,852,800
2 1,235,200
= 185,280
Al 432,320
402 DIZFRF=0I A 1,852,800 0 1,852,800
2 1,235,200
= 185,280
Al 432,320
02 DIFKIEAII S X (0IA T R) 1,852,800 0 1,852,800
DEINRSHAG XY 1,852,800
2 1,235,200
= 185,280
Al 432,320
SESAHAPE (LT 54,712 24,83 29,876
2234 =& 54,712 24,83 29,876
DDA AHE 2% (SYFHD) 29,712 24,83 4,876
101 2124t 29,712 24,83 4,876
04 JRR22NESH 29,712 24,83 4,876
DDSAXAME SXX CIEII 29,712
= 80, 240+ 12 %240 ! 19,258
-5 80,2402 x 1% %5221 4,173
~2X A 80,24021%1%* 112 883
-= &l 140,000 1H* 122 1,680
-DEH| 95,0002 * 1%+ 122 1,140
-HEEIH 500,000 * 1% *23] 1,000
-Rexdsg 80,2402x1H* 16 1,284
A2 E 294
DDA BT SN2 M) 84 25,000 0 25,000
301 YBHFFEZ 25,000 0 25,000
14 JEIB A2 25,000 0 25,000
SINTA MEA ZBHH o X3 25,000
SO MA LS (S H DY) 3,666,303 6,746,563 3,080,260
2 97,936




SN SeIISME
I =AM (Y™
Akl i N (Ctel: o)
SA - = - S9I(EH) - MRA e Gl HImS2
& 259,023
Al 3,309,344
SIA K& 854,506 846,131 8,375
= 25,700
= 37,904
Al 790,902
SIIARE AMS(sSEHM) 200,000 200,000 0
402 212tXH=01 S 200,000 200,000 0
01 BIZ A= ARG B (KFHITHA) 200,000 200,000
S 7 X 200,000
SIHSSHER SRS (S 25,750 27,435 21,685
= 10,300
& 4,635
Al 10,815
206 M= Hl 25,750 27,435 1,685
= 10,300
= 4,635
Al 10,815
01 =4l 25,750 27,435 1,685
SIASAHX A 25,750
= 10,300
= 4,635
Al 10,815
CSEEYsY ALNE Fdl 2L XA 500,000 500,000 0
402 212201 H 500,000 500,000
01 BIZAHE ARG B (KFHITHA) 500,000 500,000 0
CSHRELSY AOE Fdl X 500,000
= I ZIIHAKIZ 30,800 0 30,800
= 15,400
= 7,700
Al 7,700
301 Et2MS 30,800 0 30,800
= 15,400
= 7,700
Al 7,700
14 JIEt2d= 30,800 0 30,800
2 s8I ZOIHX X2 30,800
= 15,400
= 7,700
Al 7,700
SHUNEAE 25 21,600 21,600 0
= 6,480
Al 15,120




SN SIS
X-Iil-l: ‘_—:O-lj:lXHE:ljl-gl.( %g&ﬂl.)
Sl =J|H XIS (CHol: xol)
SA - HH - SR(EH) - HRA ofl e Gl imE=T
402 BItAH=01 M 21,600 21,600 0
& 6,480
Al 15,120
02 QIZEXH=AIS 22 (01 - THE) 21,600 21,600 0
SotME e B8 21,600
= 6,480
Al 15,120
sttE 20| A& 76,356 76,356 0
= 19,089
Al 57,267
402 212tXH=01 S 76,356 76,356 0
& 19,089
Al 57,267
02 QIZEXHEAIE 2 (01X THE) 76,3% 76,356 0
stk 28| X3 76,3%
& 19,089
Al 57,267
AESAAE 2,811,797 5,900,432 3,088,635
= 72,236
< 221,119
Al 2,518,442
sgE o3Il X 40,000 40,000 0
= 12,000
Al 28,000
402 212tXH=01 S 40,000 40,000 0
= 12,000
Al 28,000
02 BIZAHE ARG 2 X (01X THS) 40,000 40,000 0
sgE RegsIl NE 40,000
& 12,000
Al 28,000
RAE2IE MBLESS A(sLEHD 1,302,000 1,380,600 AT78,600
307 2I2+0| ™ 1,302,000 1,380,600 AT78,600
02 It B AAEE X 1,302,000 1,380,600 AT78,600
ZACIE NMSLE 1,302,000
A2 THHHEER] X (SSE 241t 700,500 578,000 122,500
206 XH=Hl 100,000 0 100,000
01 MZH 100,000 0 100,000
a3y =M A 100,000
301 Et2HS 300,000 300,000 0
14 JIEt2d= 300,000 300,000
aSEH daded=s N2 300,000




2N sZ0I=dH
A =P MHASH(=SHM)
el AESAAY CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
307 212t01 & 300,500 278,000 22,500
02 QIRHBAIAHEE R 300,500 278,000 22,500
Ay 20z X 100,000
AZH(ESE) SN X 25,000
of 2 THEHEHX] SHE 2 135,000
o2 THHHEEX SS2H 40,500
sHAXNKH 54 2F 411,600 423,500 A11,900
= 123,480
Al 288,120
307 212t01& 411,600 423,500 A11,900
= 123,480
Al 288,120
02 QIRHBAIANHE R 411,600 423,500 A11,900
sHAXNH 54 22 411,600
& 123,480
Al 288,120
& AlSXNE SSIHA |4 28,572 79,500 /50,928
= 8,572
Al 20,000
307 212t01 & 28,572 79,500 A50,928
= 8,572
Al 20,000
02 QIRHBAIAHE R 28,572 79,500 A50,928
= E&E=2 I8t =4 28,572
& 8,572
Al 20,000
ANAs MEEZ KA 15,600 13,392 2,208
& 4,680
Al 10,920
201 et 3| 15,600 13,392 2,208
= 4,680
Al 10,920
01 At22teld| 15,600 13,392 2,208
HMA=s M2EZ K 15,600
= 4,680
Al 10,920
=0l HEZZA & XA 3,450 3,450 0
& 1,035
Al 2,415
201 et | 3,450 3,450 0
& 1,035
Al 2,415




A s2II=dH
¥ sy (s
el AESAAY CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 Al 22| 3,450 3,450 0
el=el HE2ZN &2 X 3,450
& 1,035
Al 2,415
2I=¢ HE2ZA N=etE e 10,050 10,050 0
= 3,015
Al 7,035
301 Et2AS 10,050 0 10,050
= 3,015
Al 7,035
14 JIEt2d= 10,050 0 10,050
/=0 HE2ZX NEEH M 10,050
& 3,015
Al 7,035
LM B S WsHEE K& 40,745 52,740 211,995
= 22,636
& 5,433
Al 12,676
307 eI2t0| ™ 40,745 52,740 211,99
= 22,636
= 5,433
Al 12,676
02 IZHE A E L 40,745 52,740 211,995
IO YAHABEM wsHEE X3 40,745
= 22,636
= 5,433
Al 12,676
= 012% Mbisot X2 170,000 170,000 0
& 51,000
Al 119,000
301 LetE2d= 170,000 170,000 0
& 51,000
Al 119,000
14 J|Et2 = 170,000 170,000 0
= 0124 o=t K& 170,000
= 51,000
Al 119,000
AMERESSSISIHSHAE 50,400 2,695,600 A\2,645,200
= 28,000
= 6,720
Al 15,680
307 2I2t01 ™ 50,400 54,000 A3,600
= 28,000
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& 6,720
Al 15,680
02 I B AEE X 50,400 54,000 23,600
ARSI STANSLH(RSAHLE) 50,400
= 28,000
= 6,720
Al 15,680
IS8 AR SEAY 38,880 453,600 A414,720
= 21,600
= 5,184
Al 12,096
307 212t01 ™ 38,880 57,600 A18,720
= 21,600
= 5,184
Al 12,096
02 QIZHHAAIEE X 38,880 57,600 A18,720
IISRA YAHX SEA(RSHEE) 38,880
= 21,600
= 5,184
Al 12,096
20 FEAMY SH(SLFA) 1,090,074 1,047,540 42,534
= 87,600
= 50,421
Al 952,053
SiE REXNE 1,090,074 1,047,540 42,534
= 87,600
= 50,421
Al 952,053
SSAAYE Ze|(EX) (sYFH) 30,800 48,400 A17,600
= 9,440
Al 21,360
307 212t01 ™ 30,800 48,400 A17,600
S 9,440
Al 21,360
02 QI B AAEE X 30,800 48,400 217,600
SHESH AN |4 24,800
S 7,440
Al 17,360
FELIHAZE 6,000
= 2,000
Al 4,000
FSAIAE 22| (=AM 354,400 347,900 6,500
201 28t=3| 134,400 137,900 3,500
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2N sZ0I=dH
M Al S RH (=)
ool sSeE |KRSXE (cro): =2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SN2 Kot S 21 12,000
SSEHE AIHAHOE 21 4,000
=X (L) 163,000 172,000 A9,000
301 LESBHZ 130,000 130,000 0
14 J|Et243 130,000 130,000 0
28 2458 A EAH| 130,000
307 SI2t01 & 33,000 42,000 A9,000
02 CIZHEAAIRIE X 33,000 42,000 A9,000
SSEHE =48 T 25,000
Mt =SAF N 8,000
OHAIEXIR FRESH (P& 3,900 3,900
202 0t 3,900 3,900 0
01 =LHOAHI 3,900 3,900
OHHEESR =&
108,330 2 x32x 1224 3,900
SSAE IIREAHE SHXA(SSFH) 93,240 95,640 22,400
= 12,121
Al 81,119
308 KtXISHMS0I& 93,240 95,640 22,400
= 12,121
Al 81,119
13 I 2SS A ELAE AL S| 93,240 95,640 A2,400
sSiE IIREHE S4XA 93,240
= 12,121
Al 81,119
GPOISSIl M=%, B2%, MIIEY, MHES 2 18,000 20,000 22,000
Al X2 (=& =H1t)
= 9,000
& 2,700
Al 6,300
301 LEEBHZ 18,000 20,000 A2,000
= 9,000
= 2,700
Al 6,300
14 J|Et2 A2 18,000 20,000 A2,000
GAP ot A 24 X 18,000
= 9,000
= 2,700
Al 6,300
SAMSHIRH KI2AY 140,000 0 140,000
= 70,000
= 21,000
Al 49,000
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Al 4,200
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= 19,200
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= 64,000
= 19,200
Al 44,800
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= 8,600
& 5,160
Al 12,040
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& 5,160
Al 12,040
ONzhtE di(sAEML) 193,200 560,750 A367,550
= 75,000
& 35,140
Al 83,060
Stts otdy &= 193,200 560,750 A367,550
= 75,000
& 35,140
Al 83,060
=Y R SEs(=LEH 22,800 16,800 6,000
S 6,840
Al 15,960
307 2I2+0| ™ 22,800 16,800 6,000
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2 s2I|SHEH
HEM: OINSAZ MAH(SAFY
Helr SatE otEd 28 (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ 4,900
Al 11,500
402 QI2FRF=0|H 16,400 175,000 A 158,600
[ 4,900
Al 11,500
02 QIZFRF2 A E AR (0| M THS) 16,400 175,000 A 158,600
A= AlMBY XY 16,400
[ 4,900
Al 11,500
HYSHAH| (SUFH ) 5,126,040 5,264,568 A 138,528
REEX=ET 4,661,436 4,743,673 N82,237
ol 2dH|(SAUX M) 4,661,436 4,743,673 N82,237
101 Q124 4,614,703 4,694,706 80,003
01 B2 4,349,315 4,326,519 22,79%
=23 3,052,243
“43(2F) 8,614,320 x 12122 103,372
53 (0HE) 7,585, 12020 x0%H %122 182,043
~XE2H ) 7,830,500 2%« 128 187,932
6= 4,733,45021% 102 * 122 568,014
-8 3,921,300R* 11122 517,612
~KISAF 3,504, 900228 * 122 1,177,647
-8.92 2,356,930 2*6%x 122 169,699
—2BHAI|HI 5,486,940 %1 X x 122 65,844
-Me2PaEy U2
3,336,650 2%+ 122 80,080
NEIZIEN= 336,786
6= 13,268 2% 10 *40 A 2+ 12 63,687
-2 11,9852+ 11H*40A| 2++ 12 63,281
XIS AH21E 20| A
12,5112+ x40 A 2Hx 12 54,048
XIS AH20E20I5})
11,7252 % 19 *40A| 2 12 106,932
82 10, 76024 +6H#40 A 2+ 122 30,989
-Me2PaEy U2
12,5091 %2 x40 A| 2 122 12,096
-8 | Rl
11,9852 % 1 =40A| 2 12 5,753
pj==SN= 47,424
| 9N 40,0002 %65 *78%+* 12 24,3%
-ZEH|= 20,0001 +65 % x 148%+ 12 23,088
H24Y 197,532
S = 48,000
-20E0] A 100,00024=21*12& 25,200
-15~20A 0] Bt 80,0002 x5 * 122 4,800




2 s2I|SHEH
M WHSHAH(SAHH)
£hel: ol 23| (che]: X Sl)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
-10~150]/et 60,0002 92t 122 6,480
-5~10= 0] ct 50,0002 * 15 * 122 9,000
-5¢ 01 30,0002 +7 %12 2,520
HIASSLZIPHA2 6,120
-251101 A 30,0002+ 1512 5,400
-20~2514 0] et 10,0002 *62+ 122 720
A2 5,760
=3 50,0002+8% 128 4,800
-43 40,0002 %2122 960
3244 4,803,400 %12 57,641
pIE=FsI-Ea= 28,440
-5= 50,00021%0%* 122 1,200
6= 7= 30,0002%x212x 122 7,560
-8= - 9= 20,0002 +6%H 122 1,440
-X&=2 60,0002 x2% 128 1,440
-XI A 50,0002 *28%x 122! 16,800
Pl =" 10,920
IEIN; 50,0002* 12128 600
—IIAk 30,0002%262 122 9,360
—OHADIAL 20,0002 x4 %128 960
SHs22Y 70,0002 +4 S x 122 3,360
ZHZAH| 140,000 *65H 122 109,200
FE S 197,531,200&%60%+23 237,038
It 4] 251,592, 4102 *3%+86%+* 102 64,911
XSS EH| 143,940
-2 400,000 1B * 122 4,800
LS 250,000 «4 2128 12,000
62, NCAHISE0/A), M2Hn
185,00021*38 % 122 84,360
s 180,000+ 112122 23,760
-82 - 93 175,000 +8% 12 16,800
-2UBRRIJIH 72 185,000 %12 x 122 2,220
02 JIERIE 150,710 194,641 A43,931
QIIM 24 (AIRHAEY) 150,710
—AZES SN O B4
2,762,500 %x2%* 12 66,300
—AZHHERIQDIM T2 B2
3,851,000 % 1«12 46,212
—AIZEQl SEHAIZFSAER O12)
10, 18524 B« 12 x40 Al 2+ 19,556
—AIZEQl SEHAIZMSER CH2)
11,98521% 1+ 122 x40 Al 2+ 5,753
JIESZ (IR
40,0002 3% x78%* 122 1,124




2 s2I|SHEH
HHM: HYHSARH| (YY)
el OIS E2g| CEREERD
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
IESE(HIES)
20,0002 *3%* 148%+ 122 1,066
—QiJH B Al 3,334
~ZIZBXRH(AIZPEEH )
157,500 %1% 12 1,890
-ZIZ B (AIZHEEH 0HS)
153, 120242 122 3,675
-tHelg sy 50,0002 +3%x 122 1,800
03 ZRE(RIHA)22XHES 114,678 173,546 58,868
DRR 22} Q1A 114,678
-Jlgs 2,922, 37024 x2% 128 70,137
~uWSEXH| 95,0002+ x 122 2,280
~CHRIX| R4 30,0002 * 122 720
-=c|= M| 20,0002+ x 122 480
—A2te| 2Rt
25, 7602122 x20 A 2H 12 12,365
-Se2fd 206,080 %22 12 4,946
—OEAM| 136,060 x2H + 15 4,082
-H24GIHE (203 014))
110,000 1122 1,320
-H24EIHE3 (1520 024
80,0009+ 1H* 122 960
=g 140,000+ 122 3,360
~HHEZOH| 5,844, 7402 x2S x25| x60% 14,028
204 Z 24| 45,600 47,400 AT1,800
01 ZHZ AR LA 11,400 11,400 0
XM IR LAY 11,400
-=F 400,00094+1H* 122 4,800
- 100,000 x4 122 4,800
XA (SH SDIASAR)
50,0009 +3* 122 1,800
02 SHLRHHI 34,200 36,000 AT1,800
CHel&t=H| 50,000 +57 Hx12L 34,200
304 oI3RY2S 1,133 1,567 A434
04 2RE(PI|HL) 22X LEH2RY2 S 1,133 1,567 A434
MHEEZ 113,283,580 * 1% 1,133
|22 464,604 520,895 156,291
J|23Y(sLYH) 260,450 255,810 4,640
201 LB 219,260 214,670 4,590
01 AF222IHI 89,300 82,830 6,470
2et+= 2,070,000 128 24,840
S204Al8| 5,000
HAN OFF 22| 29|
3,000,000 x 12 36,000




SN s2I|SHE
I ANYSHAH|(SYFM)
SRl =2 (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
FUAY 23 1,800
24y 21,660
- &y 60,000 x2Z* 119 14,280
—=EH[ (M) 30,0002 %12 *246L 7,380
02 232l 129,960 131,840 1,880
S329H| 129,960
3322 £ HAl 50,000
= 15,000
~AlE &SI 40,000
—XtHei| 2,080,000 122 24,960
202 0| 21,800 21,800
ENGE 21,800 21,800
240 17,480
2R 20| 4,320
203 LRI 19,390 19,340 50
01 J |22 5,500 5,500 0
I 2A2HARTXY| 5,500
02 HRAINAL PRI 4,090 4,040 50
HLIDIA2 4,090
03 Al F=RIH =AY 5,000 5,000 0
HEYs 23 =3 5,000
04 PARILPEE| 4,800 4,800 0
SNRYARTXIY| 4,800
A 22| (S 204, 154 265,085 60,931
101 Q1244 119,890 149,285 A29,395
M IIIH22ISES 119,890 149,285 ~29,395
HAF LIl RIEZ 2,424
-2 200,000 %26 2,400
~MHHEE= 2,400,000 %1% 24
AL A 2Y 29,712
-JlIEa 80, 240+ 12 #240 ! 19,258
-FRad 80,2402% 1252 4,173
=P = 80,2402 %1211 883
-S| 140,000+ 18122 1,680
-~ S22 95,0002 *1Z* 128 1,140
-HE=OH| 500,0002%124%235] 1,000
-FE25dY 80,240 %1 x 16! 1,284
-AHEEE 294
LAY 22 58,042
|23 80, 240 R x2 Q%240 2! 38,516
-FRad 80,2409 2 x50 8,345
= PNy 80,2402 %2 %11 1,766




2N =YIISHE
HE: HYSAUAH|(SY™D)
SRl =2 (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
-S| 140,000 =2 x 122 3,360
-NSE&H| 95,0002 *2H* 12 2,280
-HESOH| 500,000 x2H*23] 2,000
== 50,0002« 128 1,200
~MHEE 2 575
HIE L =XI22F BH 2 S32 =42 29,712
ez 80, 24091% 12 %240 19,258
-FEay 80, 240211 x50 4,173
—ERSE 80,2402« 111 883
-2 &t 140,000 %12 * 128 1,680
-DESXH 95,0002 * 1L* 122! 1,140
-HEEIH 500,000 * 123 1,000
-S2g5usy 80, 24021%12% 16 1,284
~MHEE2 294
401 AI2HIZ 200 77,000 60,000 17,000
01 Al&] 77,000 60,000 17,000
AL S0IEH 5loAl 2lRed 42,000
S| SMIE SHEA L] XA} 35,000
405 KHoHE S 7,264 55,800 48,536
01 ML SZZ S| 7,264 55,800 48,536
AP S0IEH 3|0l 22 7,264
~&IH 1,314
—HE2|A 860
-3lol8 EXt 640
~FolAl OX} 2,416
-E|HI0IZ 594
-EIg oK} 1,440
THRES (S22 1,709,956 1,589,353 120,603
FESENE 1,709,956 1,589,353 120,603
SIISAXAME X2 (SEHHD) 1,709,956 1,589,353 120,603
701 JIEIS| HERSZ 1,709,956 1,589,353 120,603
01 JIEFBIHEZEZ 1,709,956 1,589,353 120,603
DLIARSME SHIH ME2 1,709,956
Ol AMA L5 (=X 3,631,001 3,743,453 A112,452
2 188,750
[ 495,380
Al 2,946,871
M2 =20 SA(SYXD) 994,824 831,989 162,835
[ 43,160
Al 951,664
Y EEEEEEEEIN BN 170,000 15,000 155,000
206 MH2H 20,000 0 20,000
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S |I=4H
S WS LS sSXAM)
2 520 SH(sAXF) (Che: &)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
& 9,300
Al 21,700
01 Al 22| 31,000 35,200 24,200
SEANC=NE Mg Sgdst At 5,800
< 1,740
Al 4,060
sENEAe sHEE 2495 Al 25,200
= 7,560
Al 17,640
301 Et2AS 4,200 0 4,200
& 1,260
Al 2,940
11 AAEIXIES 4,200 0 4,200
SEANC=NE Mg Agdst At 4,200
& 1,260
Al 2,940
307 2I2t01™ 20,000 20,000 0
= 6,000
Al 14,000
02 QIZHHAAIEE X 20,000 20,000 0
SEXNTAE MNEA =2 AE Al ALY 10,000
= 3,000
Al 7,000
sSEACA2 = HEZd Hz2s ?st
EtXE THEH Al 10,000
& 3,000
Al 7,000
402 212tXH=01 S 15,000 15,000 0
= 4,500
Al 10,500
02 BIZAHE ARG 2 (01X THA) 15,000 15,000 0
SEXNEXE AIIE XNFETAY 15,000
& 4,500
Al 10,500
HAsK2HE 2 10,000 9,000 1,000
& 3,000
Al 7,000
201 Let23| 10,000 9,000 1,000
= 3,000
Al 7,000
01 At22tel] 10,000 9,000 1,000
HASAEHH 2 10,000
= 3,000




2N sZ0I=dH
BH: =0 AW ASH( ST
el M2 S0 SH(sAXJD) (Chol: X =1)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
| Al 7,000
Hs, HE KNS 9,000 0 9,000
& 2,700
Al 6,300
201 et 3| 1,000 0 1,000
= 300
Al 700
03 A2 1,000 0 1,000
HsAHEL WsSIIF E43st 1,000
= 300
Al 700
206 M=l 2,500 0 2,500
& 750
Al 1,750
01 =4I 2,500 0 2,500
HsHEL MHSIIE &4t 2,500
& 750
Al 1,750
301 EtEdEZ 1,500 0 1,500
= 450
Al 1,050
11 EALHIXIRAZ 1,500 0 1,500
HsAHEL! WsSIIF E4st 1,500
& 450
Al 1,050
307 212t01™ 4,000 0 4,000
& 1,200
Al 2,800
02 CIZHEAAIRIE X 4,000 0 4,000
HsHE SFs8 EEUA 4,000
= 1,200
Al 2,800
S0l SEHH S4 (XA 55,700 57,500 A1,800
& 15,710
Al 39,990
201 et 3| 7,200 14,000 26,800
& 2,160
Al 5,040
01 AtR2elt] 7,200 14,000 26,800
4Ha| sHES S4dst Al ALY 7,200
= 2,160
Al 5,040
301 et Z 17,500 12,500 5,000




2N sZ0I=dH
M =9 A A (=X
el M2 S0 SH(sAXJD) (Chol: X =1)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 4,250
Al 13,250
11 EALHIXIRAZ 17,500 12,500 5,000
SOIOISIATH S4sRi0l A 29| ot
23t 7,500
= 2,250
Al 5,250
SHRISIEHH Ut 20 & s 10,000
& 2,000
Al 8,000
307 212t01 & 27,000 28,000 A1,000
= 8,100
Al 18,900
02 QIRHBAIAHE R 27,000 28,000 A1,000
SS=0ItAs IBHE 3Y &etst AlY
A 17,000
& 5,100
Al 11,900
S=2=HooAs ASH? HHE 2
AlE At 10,000
= 3,000
Al 7,000
308 XXIHHMSOIH 4,000 3,000 1,000
= 1,200
Al 2,800
08 W=J|20ICHEtE = 4,000 3,000 1,000
St4He ZZ2NE S=5K 3 AlY AL 4,000
& 1,200
Al 2,800
=)= 22L& 2,300 2,300 0
= 690
Al 1,610
201 LE23H| 2,300 2,300 0
= 690
Al 1,610
01 At22teld| 2,300 2,300 0
sz 8 82X XA 2,300
& 690
Al 1,610
Hs,HE O A2 29 29,712 29,009 703
101 @I244| 29,712 29,009 703
04 J1ZtHI2 2R S 2+ 29,712 29,009 703
s, AE O AR 2Y 29,712
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2N sZ0I=dH
M =9 A A (=X
Cel: SANSOIAAL(Z2X) (sSXJ 1) (Crel: ®el)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
301 EtEEZ 1,500 1,600 A100
= 750
& 375
Al 375
11 HARHIXIR S 1,500 1,600 A100
ARsgel JIxgs)|=uR 1,500
= 750
& 375
Al 375
S&EEN sEXNT 843 X3 A (=SXJA) 4,500 4,500 0
= 1,350
Al 3,150
101 eI44| 4,500 4,500 0
= 1,350
Al 3,150
04 JIZtHI2Z2 NS ES 4,500 4,500 0
selEsHH 2R 4,500
& 1,350
Al 3,150
AQE s&EXE 2K 27,000 27,000 0
& 8,100
Al 18,900
201 et 3| 23,000 27,000 24,000
= 6,900
Al 16,100
01 At22teld| 23,000 27,000 24,000
ADIE s&EX& 2K 23,000
= 6,900
Al 16,100
202 04t 4,000 0 4,000
& 1,200
Al 2,800
01 =LY 4,000 0 4,000
AOIE s&XE 2sK& 4,000
= 1,200
Al 2,800
HEA=s0l S4(<H|) 768,400 400,500 367,900
= 261,600
Al 506,800
201 L2 3FH| 45,000 57,000 A12,000
& 13,500
Al 31,500
01 AtR2elt] 35,000 37,000 A2,000




A s2II=dH
¥ =g Y Ls(sLRAW)
Cel: SANSOIAAL(Z2X) (sSXJ 1) (Crel: ®el)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Aol Adst A 10,000
& 3,000
Al 7,000
HASHO ANEE IFAMSH 2E 25,000
= 7,500
Al 17,500
02 S3=4H| 10,000 20,000 10,000
Yol ANIEY Bddsd 29 10,000
& 3,000
Al 7,000
206 M= Hl 5,000 10,000 A5,000
& 1,500
Al 3,500
01 MH=H] 5,000 10,000 A5,000
Yol ANIEY Bddsd 29 5,000
= 1,500
Al 3,500
301 Et2MS 8,400 8,400 0
& 3,600
Al 4,800
11 AAEIXIES 8,400 8,400 0
HESO ADEYE D= 8,400
& 3,600
Al 4,800
307 212t01 ™ 10,000 9,300 700
= 3,000
Al 7,000
02 QIZHHAAIEE X 10,000 9,300 700
Yol 58 A4S0kl SgAE 10,000
= 3,000
Al 7,000
308 MAIHSOIH 10,000 6,000 4,000
& 3,000
Al 7,000
08 W=J[20HEE X 10,000 6,000 4,000
FESRED| dZ2u= 10,000
= 3,000
Al 7,000
401 AIZHIZ 20| 150,000 200,000 50,000
= 45,000
Al 105,000
01 Al&H] 150,000 200,000 /50,000
s ANEY ZEAsE 053 150,000
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A s2II=dH
¥ =g Y Ls(sLRAW)
Cel: SANSOIAAL(Z2X) (sSXJ 1) (Crel: ®el)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 2,700
Al 6,300
301 Let2d= 46,000 60,500 214,500
& 13,800
Al 32,200
11 HAAEIXES 16,000 24,500 28,500
ANESY AEUF Bt 16,000
= 4,800
Al 11,200
14 JIEt2d= 30,000 36,000 26,000
A0IEE ds)t SEAs 30,000
& 9,000
Al 21,000
405 KH&HFSHI 12,000 10,000 2,000
= 3,600
Al 8,400
01 ML =ZF SHI 12,000 10,000 2,000
SElWE WStethE At 12,000
= 3,600
Al 8,400
ANEY 54 NEQlE st 13,000 0 13,000
& 3,900
Al 9,100
201 Let23| 10,000 0 10,000
& 3,000
Al 7,000
01 Al 22| 10,000 0 10,000
A0EE |4 Aoy et 10,000
= 3,000
Al 7,000
202 04| 3,000 0 3,000
= 900
Al 2,100
01 =LHOHI 3,000 0 3,000
A0EE |4 Aoy et 3,000
S 900
Al 2,100
sE s Jlgtxd 996,822 1,751,300 ANT54,478
= 103,000
& 59,000
Al 834,822
SENDIZ 2S(sSXEM) 6,000 12,940 26,940
201 et23| 6,000 6,000 0




SA: sYI|IEMEH
MM = M ASH(SAXFD)
gHel: s& s9 Jlgtxd (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 AF22t2IHI 6,000 6,000 0
sl HEX 250,000 % 12 3,000
SHASIEHSACE 29 3,000
SE2Z ATWSH (AR 29,000 29,000 0
201 L2 A 21,000 21,000
01 AFRZH2IHI 1,000 1,000 0
SAsHEHA 2 500,00024%23] 1,000
03 BALS | 20,000 20,000 0
SENEHANHLS) 2435
10,000,000& *23 20,000
301 YB3 2,000 2,000 0
11 BAFAHIXIRZ 2,000 2,000
SEHE #AHDR) B4
8,000 *250H 2,000
307 212+0|& 6,000 6,000
02 QIFAAAIRIE R 6,000 6,000 0
SEHEATE 201 SAAY 6,000
HESXL|(SAXIHD) 70,000 437,557 N367,557
201 L2 17,000 44,500 A27,500
01 AF222IHI 7,000 15,300 8,300
HE2SL 29 7,000
—2Ye= 450,0002%103] 4,500
-2 MH(2IZY, 822 5)
500,000 *13] 500
-2014H| 24 2,000,000 1 2,000
02 2229 10,000 29,200 19,200
WESZ X2 10,000
-2222 2 HMAl 600,0002 % 12 7,200
- - QAR AlA - Y| RXIHI 2,800
401 AlEH| 22 OHH 50,000 350,000 300,000
01 Al&H] 50,000 350,000 A300,000
HWE2X QXHelAE B4 50,000
405 THAE SH 3,000 0 3,000
01 AU SEFSH| 3,000 3,000
WESZ OTHELH, AIRA 5) 3,000
SO AUAIA 29 436,110 414,694 21,416
101 Q124 58,430 58,274 156
M IIHR2R2IEES 58,430 58,274 156
SO LA A 2 58,430
-JlE= 80, 240 R +2 Q%240 2! 38,516
e 80, 24021+ 22 *522 8,345
~AXtE 80,2402 x2S %112 1,766




2AM:

F M

SRR
=9 AMe 23 (SAXAD)
== = JIBIRA

el == =g JI9Ad (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
-=& 140,000 =2 x 122 3,360
-IEH] 95,0002+ 128 2,280
= P=E=Dlt] 500,000 *2%*23| 2,000
ST 300,0002 2 600
-EX0iH| 1,000
—AHEEE 563
201 L2y 127,680 123,420 4,260
01 AlR2t2IH| 15,020 13,720 1,300
22X I 150,000 *5%x23] 1,500
SANXY =322 C82
400,00024%53] 2,000
TAXY =32 2 ZAH|
200,00024%53] 1,000
Fo1EH E¥g 160,000 * 12 1,920
SHIH AUNAIG A SHSR et
800,00024*23] 1,600
=1 YEEI X 2,000
= LUAIGA OHF U 2aX|e S 5,000
02 2Z2%Y| 112,660 109,700 2,960
S| AMAIEA 29 112,660
-&J123 500,000 %122 6,000
=D UHAIE A AlA - BHIRK
40,000, 0002 *2IH A 80,000
-t} =01 sEREE
59,00024*440 25,960
-MESXAHX B2 350,000 *2CH 700
206 M2t 20,000 20,000 0
01 W2 20,000 20,000 0
= =3l4el B2
200,0002%1003] 20,000
401 AlEHIZ 20| 30,000 63,000 A33,000
01 Al&H| 30,000 63,000 A33,000
=S| MeRe Hgt o Hope 30,000
405 KHAHEI S 200,000 150,000 50,000
01 AL 2 EF SH 200,000 150,000 50,000
UM S| R 200,000
=201 29X 6,000 6,000 0
[ 1,800
Al 4,200
201 LB 6,000 6,000 0
[ 1,800
Al 4,200
01 AlR2:2IH| 6,000 6,000 0
=) H 22X 6,000




SN SeIISHE
¥ =g Zde Ls(sLRAW)
gHel: s& s9 Jlgtxd (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 1,800
Al 4,200
SSIH s XA 6,000 9,000 23,000
= 3,000
S 900
Al 2,100
201 €et23| 6,000 9,000 23,000
= 3,000
= 900
Al 2,100
01 At22tel] 6,000 9,000 A3,000
SIH otd & AR UF 6,000
= 3,000
= 900
Al 2,100
NHSet ASHSHL A 68,000 68,000 0
201 28t=3d| 3,000 3,000 0
01 At22tel] 3,000 3,000
dE2LLT SEEH S 3,000
301 LBtE2NS 25,000 25,000
14 J|Et2 = 25,000 0 25,000
42243 =ot =8 XN
50,000, 0003 *50% 25,000
307 212t01 ™ 15,000 15,000 0
02 QIZHHAAIEE X 15,000 15,000
2293 NelHEAl ZEM X2 15,000
402 212tXH=01H 25,000 50,000 225,000
01 BIZAHE ARG B (KFHITHA) 25,000 50,000 225,000
TNEE SELLS E33 N2AL 25,000
Cas 4220 Sz 20,000 20,000 0
201 et23| 4,000 4,000
01 Al 22| 4,000 4,000
cA AMXS DK 500,0002+83] 4,000
206 XH=Hl 16,000 16,000 0
01 MZH 16,000 16,000 0
T4 RlXR u=s 2,000,000 %83 16,000
FAAL 20 A9t SI1H K& 200,000 400,000 A200,000
= 100,000
= 50,000
Al 50,000
405 AHAHE SHI 200,000 400,000 A200,000
= 100,000




SA: sYI|IEMEH
MM = M ASH(SAXFD)
HRl SE s ey (St M 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ 50,000
Al 50,000
01 AL S EF SH 200,000 400,000 200,000
FAX L2 H 3 SI1H X 200,000
= 100,000
[ 50,000
Al 50,000
Ioistsaled 29 114,712 111,009 3,703
101 Q124 34,712 34,009 703
M IIHR22IEES 34,712 34,009 703
toistsaled 29 29,712
ez 80, 2402 % 1242402 19,258
=54 80,240 %13 %522 4,173
= PNy 80,240R%1 3 %112 883
=& 140,000+ 18122 1,680
-DEH| 95,00021%12* 122 1,140
-YEIOHI 500,000 * 1 +23] 1,000
S5 80,2402 %1 x 16! 1,284
-AEEE 204
ToistEAl2@l AR (OIS HR) M= 5,000
201 LB 59,000 59,000 0
01 AF222IHI 7,000 7,000
oistsAled 29 2 22| S 5,000
MgzZzly 29 2,000
02 222 52,000 52,000 0
ItelstsAl2el Al 29 52,000
-2222 2 MAl 800,000+ 12242 9,600
pai=tel 8,000,000 *5IH & 40,000
-AEEHIS X 200, 0002 %1200 2,400
206 M2l 18,000 18,000
01 2HI 18,000 18,000 0
pUEE=INI= (=] 10,000
Mgmzly 29 Ha 8,000
405 KHAHE SH 3,000 3,000
01 AL SEF SH 3,000 0 3,000
Lt 3,000
orel 23 M 29 20,000 20,000 0
201 L2 A 10,000 10,000
01 AFRZ2IHI 10,000 10,000 0
orel g2l e 29 10,000
206 M=l 10,000 10,000 0
01 2HI 10,000 10,000 0




SA: sYI|IEMEH
MM = M ASH(SAXFD)
HRl SE s ey (St M 2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| EIEEEEE 10,000
SO OFMAND Ol ZDE X2 15,000 15,000 0
[ 4,500
Al 10,500
201 L2 A 15,000 15,000 0
[ 4,500
Al 10,500
01 AFRZH2IHI 15,000 15,000 0
S| OFMAND Ol 2T X2 15,000
[ 4,500
Al 10,500
A8 AL ZBA L4 1 XY 6,000 0 6,000
[ 1,800
Al 4,200
201 L2 6,000 0 6,000
[ 1,800
Al 4,200
01 AFR22IHI 6,000 0 6,000
ASAMI|HEZAL 5 HEXS
400,00094*15% 6,000
[ 1,800
Al 4,200
SE MERUR 2 eSS fY 658,955 559,964 98,991
= 48,000
[ 74,495
Al 536,460
0d =0l X (=SSR 83,125 49,000 3,125
201 L2 A 15,000 15,000 0
01 AFRZH2IHI 15,000 15,000 0
=z04eld SAUS
1,500, 0004103 15,000
206 XHEH| 10,000 10,000
01 XHEH] 10,000 10,000 0
A S0l DHAS W2
1,000,000 %43 4,000
HRI2ns As W2
1,000,0002 %33 3,000
SEMETIY DS AL W2
1,000,0002 %33 3,000
301 LBE A3 4,000 4,000
11 BAFAHIXIRZ 4,000 4,000 0
Ol S0l MEIX| BIXI 0K 1,000
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SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
< 30,000
Al 30,000
402 SItXHE01A 84,220 81,680 2,540
< 25,266
Al 58,954
02 QIZEXHEAIE 2 (01X THE) 35,400 38,050 A2,650
eiRs)t SZEY 220 X 5,400
= 1,620
Al 3,780
stesIF 80| = X 18,000
< 5,400
Al 12,600
stesot JIREdH X 2,000
= 600
Al 1,400
eIRsIt Jlsd 88+ HuAE T 5,000
= 1,500
Al 3,500
[0TD18H AtS2telAlAE 5,000
< 1,500
Al 3,500
03 SIZH? &AL 48,820 43,630 5,190
SOHRI AL A KIZ 23,250
= 6,975
Al 16,275
=48 g Jlsd 28 XE 16,000
< 4,800
Al 11,200
st fo2dst ¥ 12 AEYHA MM X 9,570
< 2,871
Al 6,699
StRsIH F42H90] K& 110,000 0 110,000
= 33,000
Al 77,000
402 St HE01A 110,000 0 110,000
= 33,000
Al 77,000
02 QIZHH2 AT 2 (01X THA) 110,000 0 110,000
stesIt Ha2te0] X 110,000
< 33,000
Al 77,000
Mg 24 EH Fedz N 53,600 52,000 1,600
= 15,280




A s2I|I=0H
I SRS UFH(ZAD
el Za SEAMY CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 38,320
307 212t01 ™ 53,600 52,000 1,600
= 15,280
Al 38,320
02 QIZHHAAIEE X 53,600 52,000 1,600
Ns8 24 TH HeisS XA(JaR) 7,600
= 2,280
Al 5,320
Mss 24 CHf el X2(0134) 46,000
& 13,000
Al 33,000
42 01522l N (AHERR) (F4) 76,800 86,400 29,600
Jl 38,400
< 11,520
Al 26,880
402 BIZtAH=01 M 76,800 86,400 29,600
Jl 38,400
< 11,520
Al 26,880
03 212t AIZHI 76,800 86,400 29,600
S0z N (HESH) 76,800
7l 38,400
= 11,520
Al 26,880
SNME I FR=2243 X2 37,000 0 37,000
< 11,100
Al 25,900
402 BIZtAH=01 M 37,000 0 37,000
= 11,100
Al 25,900
02 BIZAHE ARG 2 (01X THSA) 37,000 0 37,000
SEZ283 X2 37,000
= 11,100
Al 25,900
EASY D208 AYAI(SLHZ0H) 74,597 0 74,597
7l 74,597
301 Et2HS 74,597 0 74,597
Il 74,597
14 J|Et2d= 74,597 0 74,597
EAMZAIZ 0l HIZ 74,597
7l 74,597
SHSOHHE X3 (S4t) 20,160 15,680 4,480
7l 8,640




A s2I|I=0H
I SRS UFH(ZAD
el Za SEAMY CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 3,456
Al 8,064
402 BItAH=01 M 20,160 15,680 4,480
Jl 8,640
= 3,456
Al 8,064
03 RIZH?EALH] 20,160 15,680 4,480
2ets0 J|I=E 20,160
7l 8,640
= 3,456
Al 8,064
SASIH SN (F4) 1,250 1,250 0
< 375
Al 875
307 2I2+0| ™ 1,250 1,250 0
< 375
Al 875
02 I B AEE X 1,250 1,250 0
AsE224)] L= 82 1,250
= 375
Al 875
ZALR A TR (FAD) 1,286,050 1,175,280 110,770
Jl 434,080
= 143,070
Al 708,900
307 212t01 ™ 1,286,080 1,175,280 110,770
Jl 434,080
& 143,070
Al 708,900
02 I B AEE X 1,286,050 1,175,280 110,770
TAE HAE AMZCIA Rz XIE 1,229,040
Jl 409,680
& 136,560
Al 682,800
AR daE SA 2L XE 57,010
Jl 24,400
& 6,510
Al 26,100
MEHE S 7Y XA (Z4) 60,000 61,800 21,800
& 18,000
Al 42,000
307 2I2+0| ™ 60,000 61,800 21,800
= 18,000




A s2I|I=0H
M SAEW UGS
Rl B4 SEAY (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 42,000
02 BIZHE &AM E S 60,000 61,800 1,800
AZHE SN 2EXA 60,000
= 18,000
Al 42,000
ZALR A AIE S FH| KR (F4H) 120,000 120,000 0
7l 30,000
= 30,000
Al 60,000
402 212tXH=01H 120,000 120,000 0
Jl 30,000
= 30,000
Al 60,000
02 BIZAHE ARG 2 (01X THS) 120,000 120,000 0
Mg dek AlE 2 B XA 120,000
Jl 30,000
& 30,000
Al 60,000
AZHHEDI S XI3(F4t) 25,000 63,500 38,500
= 7,500
Al 17,500
402 212tXH=01 S 25,000 63,500 38,500
= 7,500
Al 17,500
02 BIZAHE A 2 (01X THS) 25,000 63,500 38,500
SRSt ALZ BHE DI 25,000
& 7,500
Al 17,500
MNESIH SEXJ(F4) 6,000 20,000 214,000
= 1,800
Al 4,200
402 212tXH=01 S 6,000 20,000 214,000
= 1,800
Al 4,200
02 BIZAHE ARG 2 X (01X THS) 6,000 20,000 214,000
S5ds, SYUE dSIE S 6,000
& 1,800
Al 4,200
s QHEZAIE MAH(FA) 166,200 131,650 34,550
& 49,860
Al 116,340
307 2I2+0| ™ 166,200 131,650 34,550
= 49,860




SN SeISHE
M FAAMSH A3H(F4AM
el Za SEAMY CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
Al 116,340
02 CIZHEAAIRIE X 166,200 131,650 34,550
sy M o X 20,250
& 6,075
Al 14,175
DA AR MAtd shal XI& 13,000
= 3,900
Al 9,100
FR2MNESIE SHXIA 16,000
& 4,800
Al 11,200
DA PMAR Mot XA 7,200
& 2,160
Al 5,040
A D2HY ZS2ZH XA 18,750
= 5,625
Al 13,125
2UMHAES M HAXR 16,000
& 4,800
Al 11,200
A QEINSH A 75,000
= 22,500
Al 52,500
S AlE SUEH(EAM 105,500 89,500 16,000
= 31,650
Al 73,850
402 CIZHRHE0|N 105,500 89,500 16,000
& 31,650
Al 73,850
02 QIZENEAMSE R (01X M) 105,500 89,500 16,000
s H2D| K& 30,000
& 9,000
Al 21,000
FEH| s X2 44,000
= 13,200
Al 30,800
AL EZHE 20,000
& 6,000
Al 14,000
HID| K& 4,000
& 1,200
Al 2,800
ZZIIoH XA 7,500




A s2I|I=0H
M SAEW UGS
Rl B4 SEAY (Crel: Xl
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
< 2,250
Al 5,250
eSS0 ity gt X#(n2AEY A GIgH) 25,000 0 25,000
& 7,500
Al 17,500
307 2I2+0| ™ 25,000 0 25,000
= 7,500
Al 17,500
02 QIZHHAAIEE X 25,000 0 25,000
W2AEYA N 25,000
= 7,500
Al 17,500
IS sIFERIR (4 62,400 132,000 269,600
& 18,720
Al 43,680
402 BIZtAH=01 M 62,400 109,500 247,100
= 18,720
Al 43,680
02 BIZAHE ARG 2 (01X THS) 62,400 109,500 247,100
CHHZ2RAIE 4,000
= 1,200
Al 2,800
As=201 - sAE L sEE dsSktE 12,500
& 3,750
Al 8,750
=24 17,600
= 5,280
Al 12,320
2| - =2t 9,750
= 2,925
Al 6,825
231 18,550
< 5,565
Al 12,985
IIEERHel AlE X (St 240,000 575,000 /335,000
= 72,000
Al 168,000
402 212tXH=01H 240,000 575,000 A335,000
= 72,000
Al 168,000
02 BIZAHE ARG 2 (01X THS) 240,000 575,000 A335,000
SSAHS 2= 100,000
& 30,000




A s2I|I=0H
I BNFWA A(SAD)
ool S8 SHAY (cio: x5
SA - HH - SR(EH) - HRA ofl e Gl imE=T
Al 70,000
Ell=t J1AIEE X2 60,000
= 18,000
Al 42,000
AIEZH 60,000
& 18,000
Al 42,000
Eldl&LD] 20,000
= 6,000
Al 14,000
SAF M KR (S4) 515,000 550,000 /35,000
& 214,500
Al 300,500
307 2I2+0| ™ 515,000 550,000 /35,000
& 214,500
Al 300,500
02 2B AEE X 515,000 550,000 /35,000
SO ZH 215,000
& 64,500
Al 150,500
SRS FONEA 300,000
= 150,000
Al 150,000
IHFEL0IEBFA (S 8,200 9,200 21,000
Jl 4,100
= 2,050
Al 2,050
307 212t01 ™ 8,200 0 8,200
7l 4,100
= 2,050
Al 2,050
02 QIZHHAAIEE X 8,200 0 8,200
E/8H| & 2H| K& 8,200
Jl 4,100
& 2,050
Al 2,050
JEEMEE Il X (S4t) 217,500 252,000 A\34,500
= 54,375
Al 163,125
307 212t01 ™ 217,500 252,000 A\34,500
& 54,375
Al 163,125
06 2= 217,500 252,000 234,500




A s2I|I=0H
Hu: AR YSH(SAD)
ol EAQ KA (crol: 22
SA - = - S9I(EH) - MRA ofe Gl HImS2
JIEMEE Jtdl A& 217,500
& 54,375
Al 163,125
=B KA X2 (F4t) 366,900 235,510 131,390
LS 110,070
Al 256,830
307 212t01 ™ 366,900 235,510 131,390
LS 110,070
Al 256,830
02 QIZHHAAIEE X 366,900 235,510 131,390
=2 +=2XEM X 235,500
& 70,650
Al 164,850
HEZ2ETHE XA 131,400
= 39,420
Al 91,980
SAFINE AIEXIR (S 100,000 350,000 /250,000
= 30,000
Al 70,000
402 212tA201H 100,000 350,000 /250,000
& 30,000
Al 70,000
02 QIZEXH=AL 22 (01 THE) 100,000 350,000 250,000
SMFORE AlE Sl 100,000
& 30,000
Al 70,000
SAH MelAlE X3 (S4) 100,000 0 100,000
= 30,000
Al 70,000
402 212tAE01H 100,000 0 100,000
= 30,000
Al 70,000
02 BIZAHE ARG 2 X (01X THS) 100,000 0 100,000
SSAH XelAld X2 100,000
& 30,000
Al 70,000
Olh |4 =Xls 54 XA 420,000 67,900 352,100
LS 126,000
Al 294,000
402 212201 H 420,000 67,900 352,100
LS 126,000
Al 294,000
02 BIZAHE ARG 2 (01X THS) 420,000 67,900 352,100




A s2I|I=0H
M SAEW UGS
ol BMY FSHAY (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Oleh =& =Hs |4 N 420,000
& 126,000
Al 294,000
Z4ts0F HAIRA (S4HH 13,300 22,400 29,100
= 3,990
Al 9,310
307 212t01 ™ 13,300 22,400 29,100
= 3,990
Al 9,310
02 QIZHHAAIEE X 13,300 22,400 29,100
HAN=SIE 12,600
& 3,780
Al 8,820
ECINEE] 700
= 210
Al 490
eEs)t SEXJ(FL) 106,000 99,750 6,250
= 21,200
Al 84,800
307 2I2t01 106,000 99,750 6,250
S 21,200
Al 84,800
02 I B AP E X 106,000 99,750 6,250
gt FEXE 106,000
S 21,200
Al 84,800
eIt Loty X3 (Fa) 41,250 36,200 5,050
= 12,375
Al 28,875
307 212t01 ™ 41,250 36,200 5,050
= 12,375
Al 28,875
02 QIZHHAAIEE X 41,250 36,200 5,050
LSSt FHHE TIA(AIR) 41,250
& 12,375
Al 28,875
LEEXISHIXA 1,200 600 600
Jl 600
& 180
Al 420
307 2I2+0| ™ 1,200 600 600
7l 600
= 180




SN sIIEHH
[ NAWA ASH(FAD)
Rl B4 SEAY (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 420
02 2IZHHAAIRIE T 1,200 600 600
LHEXEH N 1,200
pJ 600
= 180
Al 420
I =R ASH(F4M) 5,135,365 4,954,008 181,357
= 1,642,558
pJ 225,968
= 661,010
Al 2,605,829
EIEPIEEYS 1,789,421 1,682,513 106,908
= 294,584
Al 1,494,837
EEPIEONETEGT 599,071 520,173 78,898
101 2124 182,371 164,073 18,298
02 JIEFE 24 30,720 29,697 1,023
SEYS $O0AH 2" 30,720
-4 2 900, 00024 x2H* 122 21,600
—AI2tQl g
11,0002 2 *30AI1 2t 122 7,920
-AggR*g 50,000 2«22 * 122 1,200
04 JIRIZR2 IS 2% 151,651 134,376 17,275
THIH Al HBLASA ol 151,651
201 YLPr2A| 87,200 86,600 600
01 A2l 47,200 46,600 600
Yok JIEFAY M= K|
330, 00021+80F 26,400
THIY Al HEAS, 2HES 29| 12,800
SELARCIAL HF SRHH K
300,000+ * 1228 7,200
ZEL A0 S DK
400,000 *2% 800
02 SZ2L| 40,000 40,000 0
THS Al HELAS 2L 29| 40,000
202 04t 4,000 4,000
IETE] 4,000 4,000 0
SELA 9/AF 01|
2,000,00024*2% 4,000
206 =4l 240,500 180,500 60,000
01 XH2H 240,500 180,500 60,000
IHEYR LSS 25,0002 *4,000kg 100,000
THIY Al HEASA goAorE 62,500
SIRE0t PEM X 60,000




2A:
X ZH
S

SR
JbESA U (FA)
Srot)| 8IS 4

HEE

S - BE - 9I(3) - HRAY - BES IS il o Hlms2t
SO0 HALSED] OIEHl XIR(Z=ALH)
10,0002 +1,8005 18,000
301 LEIEEZ 9,000 9,000 0
14 JIEIE &= 9,000 9,000 0
AbS FHSHA 3E 24
30,000 &*1505+22] 9,000
302 OI=LTHOHE &S 3,000 3,000
02 SIZIITHHA SRS SE A4S 3,000 3,000 0
THIS Al LA THoH 2 & 3,000
307 212+0|& 73,000 73,000 0
02 QIHH&AIEE X 73,000 73,000 0
S=E=I oiel2ast X
8,800 *7,500kg*50% 33,000
2ESIt prrstidl 2.,00024%30, 0005 *50% 30,000
SASEONG A RIMIHA AL
400,000 251 A 10,000
SOHUATIZ (AASSIHEZH) (K4t 110,000 125,000 15,000
= 33,000
Al 77,000
301 LBEES 110,000 125,000 215,000
< 33,000
Al 77,000
14 J|Et2 43 110,000 125,000 /15,000
2 ARsIE At
100,000 *2, 2000}/ *50% 110,000
< 33,000
Al 77,000
SHLATZ (LIS =AY GlYeal X&) (S4t) 210,000 220,840 210,840
= 42,000
Al 168,000
206 M= Ul 210,000 220,840 210,840
= 42,000
Al 168,000
01 M= 210,000 220,840 210,840
AR FREY olgws X 210,000
< 42,000
Al 168,000
SHLAXA(BHE =AY olg XIY)(S4tm) 105,000 105,000 0
= 21,000
Al 84,000
206 M= Ul 105,000 105,000 0
= 21,000
Al 84,000
01 M= 105,000 105,000 0




2N sZ0I=dH
A JISYAUSHFAD
ol YRRy (CH: ®2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
SE F=REY olgeal XA 105,000
= 21,000
Al 84,000
SIS (UOIE Y BHAIXIY) (F4H) 109,000 105,400 3,600
& 21,800
Al 87,200
206 =4I 109,000 105,400 3,600
& 21,800
Al 87,200
01 H=H| 109,000 105,400 3,600
CHots =&Y olgesal X2 109,000
= 21,800
Al 87,200
ot EEY Mg LAIIEHSHY ASAE X)) ( 27,000 38,600 A11,600
I
& 5,400
Al 21,600
206 =4I 27,000 38,600 211,600
& 5,400
Al 21,600
01 H=H| 27,000 38,600 211,600
QEIESHGEUEY A=A 27,000
= 5,400
Al 21,600
ot ALY MZOI2EEY oY 242 X)) (Fat) 64,410 64,280 130
= 12,882
Al 51,528
206 =4I 64,410 64,280 130
& 12,882
Al 51,528
01 H=H| 64,410 64,280 130
JEsot 28 fgYE AR 64,410
& 12,882
Al 51,528
OISR (B0 AAY AEXEDE X)) (Sar 22,700 12,470 10,230
)
= 4,540
Al 18,160
206 =4I 22,700 12,470 10,230
& 4,540
Al 18,160
01 =4I 22,700 12,470 10,230
SO HAHE AISEEIE XA 22,700




2 seI=dH
A JIFYAUSHFAD)
ol YRRy (CH: ®2l)
SN BB BRI(E) - HIRAY - B Gl 2
< 4,540
Al 18,160
=S E R (S2AHRN) (F 4t 86,400 86,400 0
< 17,280
Al 69,120
301 LBtE2NS 86,400 86,400 0
= 17,280
Al 69,120
14 J|Et2 8= 86,400 86,400 0
===2| HiX 1,200,000 +62* 122 86,400
= 17,280
Al 69, 120
HAISMEHIE X3 (HAES Meldlg X)) (St 4,900 4,900 0
< 1,400
Al 3,500
301 LBtE2NS 4,900 4,900 0
= 1,400
Al 3,500
14 J|Et2 8= 4,900 4,900 0
HAISE Melblg XIg
200,000 *350t2*70% 4,900
= 1,400
Al 3,500
a0 YHAIE X2 115,000 77,200 37,800
< 34,500
Al 80,500
402 2I2HXH201 115,000 77,200 37,800
< 34,500
Al 80,500
02 QIZEXHEAIE 2 (01X TH) 115,000 77,200 37,800
FatsIt AHLSAE X2 115,000
= 34,500
Al 80,500
AH=HAR KIS X 20,000 20,000 0
< 6,000
Al 14,000
206 M=l 20,000 20,000 0
< 6,000
Al 14,000
01 =4 20,000 20,000 0
A=HAL OlgeE X
20,000&+1,0000te! 20,000
= 6,000




2N sZ0I=dH
A JISYAUSHFAD
ol YRRy (CH: ®2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
| Al 14,000
3=t 2e e X2 5,000 5,000 0
& 1,500
Al 3,500
402 QIZERHE0| A 5,000 5,000 0
= 1,500
Al 3,500
RENENEEESGFSHED 5,000 5,000 0
p[=ES L E D DAL
10,000, 0002 *50% 5,000
= 1,500
Al 3,500
FHSIH 1B Oleal X2 18,000 19,500 21,500
& 5,400
Al 12,600
206 =4I 18,000 19,500 21,500
= 5,400
Al 12,600
01 M=l 18,000 19,500 21,500
FHSI 1B Oflesal XA 18,000
= 5,400
Al 12,600
SOHUARIZ (REMAY SAUE TI-)(F 50,000 0 50,000
& 15,000
Al 35,000
206 =4I 50,000 0 50,000
& 15,000
Al 35,000
01 H=H| 50,000 0 50,000
N=datd sratersg XIJ 50,000
= 15,000
Al 35,000
SOHUARIR (AIS HIE A X&) (4 440 0 440
& 132
Al 308
206 =4I 440 0 440
& 132
Al 308
01 =4I 440 0 440
AtS HEA & 440
& 132
Al 308
SIS (YESIH 2SH KJ) (4 100,000 0 100,000




2N sZ0I=dH
A JISYAUSHFAD
ol YRRy (CH: ®2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 30,000
Al 70,000
206 =4I 100,000 0 100,000
= 30,000
Al 70,000
01 M=l 100,000 0 100,000
==t 2SN XA 100,000
& 30,000
Al 70,000
SO AR (STAZ! e HE 2HAS KE)(Sat 22,500 0 22,500
)
= 6,750
Al 15,750
206 =4I 22,500 0 22,500
= 6,750
Al 15,750
01 M=l 22,500 0 22,500
HOIAZI K s PHAES K& 22,500
& 6,750
Al 15,750
s MgY =t HRIAE 28 S K- 90,000 0 90,000
& 27,000
Al 63,000
101 2124b| 90,000 0 90,000
= 27,000
Al 63,000
04 JIZtHI2Z2 XS ES 90,000 0 90,000
s Mgy Sat AXAE 29| S X 90,000
= 27,000
Al 63,000
sIHLSEXI(FasIE HeAE S HelX) (Sat) 30,000 0 30,000
& 9,000
Al 21,000
201 et 3| 30,000 0 30,000
& 9,000
Al 21,000
01 AtR2elt] 30,000 0 30,000
4= HSS S XMelk 30,000
= 9,000
Al 21,000
g ag| 3,345,944 3,271,495 74,449
= 1,642,558
| 225,968




A s2JI=dH
B JISYOIASHSADL)
ol JEEES e (CHR: X 2)
SA - B SR(E) - HRAY - BAR e Gl HImS2
& 366,426
Al 1,110,992
IS ol & BA AF Y S N(AEZLetHE 168,000 120,000 48,000
) (26
= 50,400
& 35,280
Al 82,320
301 LetE2d= 168,000 120,000 48,000
= 50,400
= 35,280
Al 82,320
14 JIEt2d= 168,000 120,000 48,000
AE24ct HEEE 168,000
= 50,400
= 35,280
Al 82,320
S Mg & BA AF Y S N(FHS HAUES 33,178 35,833 A2,655
AEA 2ASHH KIH) (S4k)
= 16,678
= 4,950
Al 11,850
206 XH=Hl 33,178 35,833 A2,655
= 16,678
= 4,950
Al 11,850
01 MZH 33,178 35,833 A2,655
THS HAFE AELA 23HH KR 33,178
= 16,678
& 4,950
Al 11,550
= ol & BA AF 7Y S NFO=ELAAL)( 621,234 564,105 57,129
i)
= 354,965
< 53,255
Al 213,014
206 M= Hl 621,234 564,105 57,129
= 354,965
< 53,255
Al 213,014
01 MH=H] 621,234 564,105 57,129
HELAXE 621,234
= 354,965
< 53,255
Al 213,014




A s2JI=dH
3 Iy (=)
ol JEEES e CEREERD
A - BE - BRI(E) - KIRA - BAS o Gl imE=T
OE 012 & 23 o2 g S A (SHAM=O0I 384,000 369,720 14,280
A (S D)
= 192,000
& 38,400
Al 153,600
307 2I2+0| ™ 384,000 369,720 14,280
= 192,000
= 38,400
Al 153,600
02 QIZHHAAIEE X 384,000 369,720 14,280
SHAIM 20l AMAL X1
2,000:2+320,0000t21+60% 384,000
= 192,000
= 38,400
Al 153,600
= oy 2 AA oFE 7Y S XN (HAAREEE 30,000 30,000 0
KNI RI2) (Fatnt)
= 15,000
= 4,500
Al 10,500
307 212t01 ™ 30,000 30,000 0
= 15,000
= 4,500
Al 10,500
02 QIZHHAAIEE X 30,000 30,000 0
L2 DNEALE~E 8 SNESIPN
10,000,000 *5=+60% 30,000
= 15,000
= 4,500
Al 10,500
= Mg 2 EA SF S N3 (K& 6PS & 38,016 42,000 13,984
S4lHl X&) (4
= 19,008
= 5,702
Al 13,306
301 Et2dS 38,016 42,000 A\3,984
= 19,008
& 5,702
Al 13,306
14 J|Et2 = 38,016 42,000 A3,984
SO GPS S4ldl A1 38,016
= 19,008
& 5,702
Al 13,306




A s2JI=dH
3 Iy (=)
el JIEgga CEEEN
A - BE - BRI(E) - KIRA - BAS ofl e Gl imE=T
s ol & Ba AF 2 S X (FHS ogES 192,700 174,000 18,700
AEtl XI) (F4)
= 96,350
& 28,905
Al 67,445
301 LBtE2NS 192,700 174,000 18,700
= 96,350
= 28,905
Al 67,445
14 JIEt2d= 192,700 174,000 18,700
THS HEES A=t X 192,700
= 96,350
= 28,905
Al 67,445
S Mg & BA AF PY S NS(FHS oA 900, 141 942,223 N42,082
X&) (=40
= 630,207
= 53,987
Al 215,947
206 = Hl 67,341 78,623 A11,282
= 47,247
= 4,019
Al 16,075
01 MZH 67,341 78,623 A11,282
THS oA XHA(ARL2) 67,341
= 47,247
& 4,019
Al 16,075
307 212t01 ™ 832,800 863,600 30,800
= 582,960
& 49,968
Al 199,872
02 I B AP E X 832,800 863,600 230,800
TR olgeal X2 (MY s) 832,800
= 582,960
& 49,968
Al 199,872
AXMEBEHSOIETEY AXE 243 X)) (Fa) 100,000 20,000 80,000
= 80,000
& 10,000
Al 10,000
301 LBtE2NS 100,000 20,000 80,000
= 80,000




A s2JI=dH
3 Iy (=)
ol JEEES e CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 10,000
Al 10,000
14 J|Et2 = 100,000 20,000 80,000
I=EEgY Xz 2ds KN 100,000
= 80,000
= 10,000
Al 10,000
SSYNE 2 (SsLM 28 ) (F4H) 283,335 297,214 213,879
7l 141,668
= 42,500
Al 99, 167
307 212t01 ™ 283,335 297,214 A13,879
Jl 141,668
= 42,500
Al 99, 167
02 QIZHHAAIEE X 283,335 297,214 A13,879
SSYME 2 XA (rAb]) 151,990
Il 75,995
= 22,798
Al 53,197
SSYMe 2 XA(22]) 131,345
Jl 65,673
& 19,702
Al 45,970
SSYAAL|(CCTV S YA Te})(Fatn) 168,600 138,000 30,600
Jl 84,300
& 25,290
Al 59,010
402 BIZtAH=01 M 168,600 138,000 30,600
Jl 84,300
& 25,290
Al 59,010
02 QIZEXH=AL 22 (01 THE) 168,600 138,000 30,600
cotv S HHQITRH(EA0ITRY) 168,600
7l 84,300
& 25,290
Al 59,010
SHELX 28 & A=HIE N 250,000 270,000 A20,000
= 125,000
& 37,500
Al 87,500
101 Q1244 230,000 270,000 240,000
= 115,000




s |=HH
AL (FAM
JtEge e (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 34,500
Al 80,500
04 J12EHI2=2 X 230,000 270,000 A40,000
SHEA29 230,000
= 115,000
& 34,500
Al 80,500
401 AlEHIZL 08I 20,000 0 20,000
= 10,000
& 3,000
Al 7,000
01 AlIEH| 20,000 0 20,000
SHE=A22Y 20,000
= 10,000
& 3,000
Al 7,000
OFM=E JIIOIHl XI& 19,800 19,800 0
= 3,960
Al 15,840
206 =4I 19,800 19,800 0
= 3,960
Al 15,840
01 M=l 19,800 19,800 0
OrMSEZ JITIH XI& 19,800
& 3,960
Al 15,840
SO GPS A Al MEAMA 2= 7,800 11,400 A3,600
= 3,900
& 1,170
Al 2,730
301 LEBAZ 7,800 11,400 A3,600
= 3,900
= 1,170
Al 2,730
14 JIEtE&Z 7,800 11,400 A3,600
AR 6P SEAMA 2= 7,800
= 3,900
= 1,170
Al 2,730
ig=soF A2ga 18,000 18,000 0
= 9,000
= 2,700
Al 6,300




2N sZ0I=dH
A JISYAUSHFAD
el JIEgga CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
301 EtEEZ 18,000 18,000 0
= 9,000
& 2,700
Al 6,300
14 J|Et243 18,000 18,000 0
J2siEgael(4d)
6,000,000&*3% 18,000
= 9,000
& 2,700
Al 6,300
TR oleal T2 (PHSE 20 HEH(HEs) 27,600 34,000 26,400
NEED
= 8,280
& 5,79
Al 13,524
301 LEBAZ 27,600 34,000 26,400
= 8,280
& 5,79
Al 13,524
14 J|Et243 27,600 34,000 26,400
HS E-olE HEL(HMYs) X
10,000&+2,7600}2| 27,600
= 8,280
& 5,79
Al 13,524
HUIAZI Al HE Alz=t| X2 75,000 0 75,000
= 37,500
& 11,250
Al 26,250
301 LESBHZ 75,000 0 75,000
= 37,500
= 11,250
Al 26,250
14 JIEtE&Z 75,000 0 75,000
SOIAZI WA HE Alsd] X2 75,000
= 37,500
= 11,250
Al 26,250
Al EESHIE X2 8,540 0 8,540
= 4,270
= 1,281
Al 2,989
301 et Z 8,540 0 8,540
= 4,270




SepIEIS
IIEYAASHSAD)
JtEge e (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 1,281
Al 2,989
14 JIEFEA2 8,540 0 8,540
Al BEESHIE XY 8,540
2 4,270
== 1,281
Al 2,989
JIEXAY QoY 20,000 0 20,000
101 124t 20,000 0 20,000
04 JIZHRIZ2XEES 20,000 0 20,000
IIENGY SR (248 EH) 20,000
SS=XY5 1,186,834 308,000 878,834
2 480,817
== 208,205
Al 497,812
SE=X X 12,000 18,000 26,000
SE=X X 12,000 18,000 26,000
201 e 2,000 2,000 0
01 AF22r2IH] 2,000 2,000 0
BIASS 20| 1] ¥ HE B8 2,000
301 LerEAZ 10,000 10,000
14 J|EFE A2 10,000 10,000
fIlsg 55, 28y U
40,0002 %2503 10,000
EEENPIECE 1,174,834 290,000 884,834
2 480,817
= 208,205
Al 485,812
RISSHIAY 86,400 86,400 0
= 25,920
Al 60,480
301 YBHEFZ 86,400 86,400 0
== 25,920
Al 60,480
14 J|EI2 A2 86,400 86,400 0
RIS H2lA 180,000 %4800}2 86,400
== 25,920
Al 60,480
fIIgLse LU XA 12,600 23,100 210,500
2 3,150
== 2,835
Al 6,615
301 LeHEAZ 12,600 23,100 210,500




2 seI=dH
Hu: =2=X23
Hel S2SX ISy CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 3,150
= 2,835
Al 6,615
14 JIEt2d= 12,600 23,100 10,500
RlFds= g2 12,600
= 3,150
= 2,835
Al 6,615
Z120| sS4zt 112,500 112,500 0
= 18,000
& 28,350
Al 66,150
301 LBtE2NS 112,500 112,500 0
= 18,000
& 28,350
Al 66,150
14 J|Et2d= 112,500 112,500 0
2020 S43t 112,500
= 18,000
& 28,350
Al 66,150
ARAFA SHeteztHl X3 64,000 68,000 24,000
= 12,800
& 15,360
Al 35,840
301 LetE2d= 64,000 68,000 24,000
= 12,800
= 15,360
Al 35,840
14 J0IEt2d= 64,000 68,000 /4,000
NS Stz X
400,000&*1600t2! 64,000
= 12,800
= 15,360
Al 35,840
MANEsEF HY, X 885,334 0 885,334
= 442,667
= 132,800
Al 309,867
301 Et2dS 885,334 0 885,334
= 442,667
= 132,800
Al 309,867




SA: sYIIeHEH
HM: ==2=X25t
tel: S22 Jlgtsy (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
14 B2 A S 885,334 0 885,334
MAISSET HY, MAX 885,334
= 442 667
[ 132,800
Al 309,867
SIRASE PXEEH X 14,000 0 14,000
= 4,200
[ 2,940
Al 6,860
301 YEHEAS 14,000 0 14,000
= 4,200
[ 2,940
Al 6,860
14 DBt A2 14,000 0 14,000
RIIRAEE PXLESH X 14,000
= 4,200
[ 2,940
Al 6,860
A SAHAH| (A 186,864 178,058 8,806
ol 2| 104,644 9,338 8,306
olHASHH| (=AM 104,644 9,338 8,306
101 Q124 103,608 95,384 8,224
03 22X (RI|HL)22XE4 103,608 95,384 8,224
2REDZ R} 01| 103,608
Al=r=1 2,630,000 2 x 122 63,120
-d2+d 2,630, 0002 *500*2 R *2H 5,260
-HEFOH 2,630,000 *60%*2 22 6,312
-S| 140,000 =2 x 122 3,360
-WESB | 95,0002 *2H* 12 2,280
SObELE 160, 000242 x 122 3,840
-CHeIXIA 30,000 %2 X x 122 720
-=g|5 M 20,0002 x2%* 122 480
-AlZEeI 28
22,8002 %2 * 122 %20 A 2t 10,944
-Se2F 165,680 2 x 122 3,977
-2 4| 110,480 x2 X« 152! 3,315
304 oI3RY2S 1,036 954 82
04 2LR(PI|H 22 BEERU2 S 1,036 954 82
IEEE] 1,036
J|=2ZH| 82,220 81,720 500
J1=2ZHI(SAH) 82,220 81,720 500
201 LBt A 57,500 57,000 500




2A: SIS HE
I AYSHAH|(SA)
&e: J|E238h| (cHol: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 AFR22IHI 27,500 27,000 500
o2 22,500
E20HAM| 5,000
02 222YH| 30,000 30,000 0
22 29| 30,000
202 04H| 21,120 21,120 0
01 2UH0IH 21,120 21,120
=LHOIHI 21,120
203 L2 =AY 3,600 3,600
04 ENSHAREAIH 3,600 3,600 0
SNSIARFXIY| 3,600
=9 s 2228l 5,195, 161 10,288,612 15,003,451
= 19,000
7l 19,000
[ 714,850
Al 4,442 311
ApEE JsE2 530,731 655,472 A124,741
[ 151,800
Al 378,931
2A0MI1E ASAIE(ZEHI D) 204,731 220,472 A15,741
101 QI124H 98,766 96,507 2,259
04 JIZHHI2 2RSS 98,766 96,507 2,259
25SA L AU ASAEE 2Y 29,712
-JlIEa 80, 240+ 12 %240 ! 19,258
-Ferd 80, 2402+ 1252 4,173
== 80,2402+ 111 883
-S| 140,000+ 18122 1,680
-S| 95,000« 1Z 128 1,140
-HE=OH| 500,0002%124+235] 1,000
S5 80,2402 %1XHx 16! 1,284
-AHEE 2 204
HMxE & ezl 80,2402 *602 4,815
HolE YAl L M2
80,2402 *602 4,815
+F24 29 29,712
== 80, 2402 % 124x2402 19,258
-=5rd 80,2402+ 152 4,173
—ERSE 80,2402« 111 883
=&t 140,000 % 12128 1,680
-1 EH]| 95,0001 * 122 1,140
-YEIOHI 500,000 * 1 +23] 1,000
-Rexdsy 80,2402 x1H* 16 1,284
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2M: sellsddH
M =9 Dz E=S(FEZII=)

=

gelr S JleEs (Crol: X 21)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Al 39,200
02 QIZENEAMSE R (01X M) 56,000 35,000 21,000
AETHA FHTHEE St JI=XI& 56,000
& 16,800
Al 39,200
K HESEGASs J|BEY(CHE) 270,000 300,000 A30,000
= 135,000
Al 135,000
402 CIZHRHE0|N 270,000 300,000 230,000
= 135,000
Al 135,000
02 CIZEXI=2 AL B (0| M THS) 270,000 300,000 230,000
S| CHEMAL FE PLUSAIAE! B5 100,000
& 50,000
Al 50,000
3E 2UHSHEES U L ALE QUK 100,000
& 50,000
Al 50,000
NEE35 AT LM JI=E2= MY 70,000
= 35,000
Al 35,000
SENY D23 12,600 12,600 0
S&2 JsEs(2&dlisn) 12,600 12,600 0
201 et | 3,100 3,100 0
01 AtR2elt] 3,100 3,100 0
SENY JisE=s U= 700
SIgARs 29 2,400
301 EtEEZ 2,500 2,500 0
11 EALHIXIRZ 2,500 2,500
SNLZE0F HAP3 HHus & B 2,500
307 212t01& 7,000 7,000
04 CIZIHALAIRIE T 7,000 7,000
SZAl & ™Al XA 7,000
HUSEES HAKIA 230,200 1,476,090 A1,245,890
= 19,000
| 19,000
= 57,660
Al 134,540
SUUSH2 MAXIA(22EI|=) 146,000 76,000 70,000
= 43,800
Al 102,200
206 =4I 6,000 6,000 0




SN SIS
I =9 Jls 2E=(@d0sn)
£Hel: JSHE XS CEEEN
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 1,800
Al 4,200
01 MH=H] 6,000 6,000 0
SHE HollE 2etd LHDls A8 At 6,000
& 1,800
Al 4,200
402 212tX=01H 140,000 70,000 70,000
= 42,000
Al 98,000
02 BIZAHE ARG 2 (01X THS) 140,000 70,000 70,000
Ol&DIMTHS D= otE ALt 2H2DHM Dl
A& A 21,000
& 6,300
Al 14,700
=Y Olche OF M Jl=XE A 49,000
& 14,700
Al 34,300
D= ZRTIoH X JI=XE ALY 70,000
= 21,000
Al 49,000
SUZ0F MUXEZAIE N(HEZ0 =) 41,800 59,400 217,600
= 19,000
= 6,840
Al 15,960
402 212tXH=01 S 41,800 59,400 A17,600
= 19,000
= 6,840
Al 15,960
02 BIZAHE ARG 2 (01X THS) 41,800 59,400 A17,600
A OIHA 22 Alg X3 41,800
= 19,000
S 6,840
Al 15,960
SEASAEsUs XEOS) (2l =n) 5,000 59,500 54,500
Jl 2,000
S 900
Al 2,100
402 BIZtA=01 M 5,000 59,500 /54,500
Jl 2,000
S 900
Al 2,100
02 QIZEXH=AL 22 (01 THE) 5,000 59,500 £54,500
SEXS(HA)AIEE U X 5,000




2N sZ0I=dH
I =9 Jlg BEZ2(2&ZI =)
P HSHE YN (cio: x5
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
| 2,000
& 900
Al 2,100
AMEJWSUS X2 (=eZI =) 37,400 37,400 0
| 17,000
& 6,120
Al 14,280
402 QIZERHE0| A 37,400 37,400 0
| 17,000
= 6,120
Al 14,280
02 CIZEXI= AL B (0| M THS) 37,400 37,400 0
AME20S st XA 37,400
| 17,000
= 6,120
Al 14,280
H0AE MAXIR 4,421,630 8,144,450 23,722,820
& 505,390
Al 3,916,240
20 ESMA X2 (F2HZ =) 287,000 933,000 A646,000
201 et 3| 4,000 0 4,000
01 AtR2elt] 4,000 0 4,000
= EollEs wWEs ¥ uHAE 4,000
206 =4I 30,000 30,000
01 M=l 30,000 30,000 0
It SEHE YH(=2) 30,000
307 212t01 & 3,000 3,000 0
02 QIRHBAIAHEE R 3,000 3,000
AU M=ot Hiz X 3,000
402 QIZERHE0|A 250,000 250,000
01 QIZENGEAMSE AR (XA ) 250,000 250,000 0
st 9EY eloteAs B2 70,000
DBE D==THEH 200 K= 80,000
28 20 852 |4 AF 100,000
et S w==2A0l=IE XA (220|121 62,500 100,000 A37,500
= 18,750
Al 43,750
402 CIZHRHE0|N 62,500 100,000 A37,500
& 18,750
Al 43,750
02 QIZENEAMSE R (01X M) 62,500 100,000 A37,500
= HES LA
70,000, 0002 *50% 35,000




)

A sZII=HH

I =9 Jlg BEZ2(2&ZI =)

Chol: RIEE M2 (crol: =4

A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
= 10,500
Al 24,500
HUHE 2EM2HED EXIAY
55,000, 0002#50% 27,500
& 8,250
Al 19,250
AMETHA DEZE MAAE SE(2EFI|2) 1,275,000 1,985,000 A710,000
& 382,500
Al 892,500
402 QIZERHE0| ™ 1,275,000 1,985,000 A710,000
= 382,500
Al 892,500
02 QI EAMBEE(0IETHE 1,275,000 1,985,000 A710,000
HUHSSEHSMAMAL SSALY 15,000
= 4,500
Al 10,500
HUETIEE ADE®E K& 1,260,000
& 378,000
Al 882,000
S FHH L3t 35,000 38,900 A3,900
= 10,500
Al 24,500
402 CIZHRHE0|N 35,000 10,000 25,000
= 10,500
Al 24,500
02 CIZEXI=2AIH B (0| M T 35,000 10,000 25,000
JAWEZS MSESEH N2AAS 35,000
& 10,500
Al 24,500
SHEIAE DB E K2 AN 40,000 16,050 23,950
= 12,000
Al 28,000
402 CIZHRHE0|N 40,000 16,050 23,950
= 12,000
Al 28,000
02 CIZEXI=2AIH B (0| M T 40,000 16,050 23,950
SFF MAD|BE T 25} 40,000
= 12,000
Al 28,000
ANERES Ol A XA 630 0 630
& 190
Al 440
307 212t01™ 630 0 630




2AM:

K ZH

sgJI=dH
s2 Jlz E=(3gdlsn)

SR FuRE Sl (Eho): 52
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 190
Al 440
02 I B AEE X 630 0 630
ANEZS Qe ZefatA 3 LY 630
& 190
Al 440
HUSEH NGSEE ot 150,000 90,000 60,000
= 75,000
Al 75,000
402 2I2HXH=01 S 150,000 90,000 60,000
= 75,000
Al 75,000
02 BIZAHE ARG 2 X (01X THS) 150,000 90,000 60,000
AL THEHEHE JHE AL 60,000
& 30,000
Al 30,000
SEENE SEDgst HIYL XA 40,000
= 20,000
Al 20,000
BHZ erF At XA 50,000
= 25,000
Al 25,000
FosttE oy NI 20,000 30,000 210,000
& 6,000
Al 14,000
301 LBt2NS 20,000 30,000 210,000
= 6,000
Al 14,000
14 JIEt2d= 20,000 30,000 10,000
F=RsHE JHAeE X 20,000
= 6,000
Al 14,000
FEoE giE ANEE HXxd 2,550,000 4,950,000 22,400,000
403 MXIEHHSAH=Z01E 2,550,000 4,950,000 22,400,000
02 SISO UEA=HAS A 2,550,000 4,950,000 22,400,000
HEXE AUE ANEE Sy 2,550,000
Jl=ds IS AUMAZHAMIM X2 1,500 1,500 0
S 450
Al 1,050
307 2I2+0| ™ 1,500 1,500 0
= 450
Al 1,050
02 QIZHHAAIEE X 1,500 1,500 0
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201 L2 A 7,000 3,600 3,400
01 AFR22IHI 1,000 0 1,000
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OVEEE 2,558
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201 L2 S 25,320 25,320 0
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A=Y 2Y 16,200
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02 2229 9,120 9,120 0
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202 OiH| 24,000 24,000 0
01 2LH0IH 24,000 24,000 0
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